ForeLAsnine

4

ALGORITMKONSTRUKTION
- DEKOMPOSITION

' See MitzipLGATION A D*2mareissr  (Sreassa)

(Cn Cm) _‘("‘H alﬁ)(bu bﬂ)
Ly Caa Ay Azf\ by B
KAN BBRAKMAS GBNOM

wig = (aa—ay) (bz-:“"_b;u)
wiy = ("u "'“::) '(h“ "b“)
"y = (ay—5,)-{ber* bn)
WMy~ (ﬂg"’ ﬁsz)‘bga
wig = ﬁ«'“"‘ﬁ. "'b:.z)
M= a;;'(b:1 = bﬂ)
iy = (R +a,) b,
Ly = Wi ¥ My =W, Wi
Cop= Wyt %
‘ Caq® M+Wig
Cpn= Wig - Wiy -+ Wi - Wiy

SAMMANLAST T MuLTIPLUATIONER
1€ AODITIONER 00H SUBTRACTIONER
MucniPLilaTion Ay TVA NXN-MATRSER TAR TD
T
- v
Tin)= 7 T{%)""! g(®)

TM=1
‘ -‘-)T(n)“ "'3-31

z
2 yp!Z

_|_(ousmu|mw AV ALGORITMER

Merms 1+ DEKOMPOSITION

(DIVIDE AND CONGUER, SONORA 0ck WARSKA )

° DELA UPP | MINDRE PRURLEM
- L OS5 DEZPROBLEMEN REKURSNT
* LOMBINERA RESULTATEN

ANALYS: ANVAND EN REMURSIONSRELATION

EXEMPEL: MATR\SMULTIPLIKATION
_ Cy1 Cr2 Ay Aﬂ.)(Bﬁ 311)
=A. &« = ,

C AB (C“ CZI) (Az1 Aln Bu gu 7

MUL(A,B, n) =
iF n=1 Tuen ReTURN A-B

C L= ADD(MUL-(Am B, !‘i), MW-(An, B.1, “'i'), "E‘%
Cn=A DDg"’W’- €4ﬂ, By, %), "W!-{Asz, Ba, ”i), "%
€y =400 {mue (A4, B0, 5), moe (Aez, 8,0, 0), %
Cr=HOD (mor{Aen, By, %}, Mz (A'zz.u B. D D
eeTurns C

Fuwgerag om n= 2~ Foe nAgor le.

Anacrs: T(1)=1 N

T(m)= 8 T{2) 4 }‘DT@“%’)



STRASSEN 1| PRAKTIKEN

1

AWAMD STRASSENS MULTIPUIHATIONSAL 694 T
For stors matriser  (n=b).

Anvino vanwie matRis MuCTIOLITION For
MINDRE maTRiseR  (n€b).

Hue ska gevteumeten b vicus?
CoU-T (5)
o0

n=512

] 1 i 1 [l

i —t —t—
16 32 6% 122 2% s12

b

2 4 8

SMARTARE _MULTIPLIKATION
DMARTARE (19N

A %ﬁ

Be

C « (atb)- (C‘*A) .
De A2+ ((-A-8Y2°+B

D=ac 2" (ad+bey 22"' bd = x4y

swmarbwalt (x4, k)=

i k<h THen reVAY XXY

ELSE
(a.b] €X
[ dl <« Y
Ae swior-tbmalt (a.c k=D
B <« swarbmalt (b,d,k-1)
C &« swarbmulb(ath, c+d, le-)
ervan A2 (A-B) 27+ B

T(Q);' 9(/1) % T(H) - @(nloﬂz?’):_
T(= 3 T(2)+00) ol

WLt /’

(BK&‘M KANDA ALGORTCMEN 0w lognloglog N))

‘ MucTieuiaTion av BivAs TAL

X= K Xy % Xy 70 KXo = 0-2%"40
w Y X

-

"

@ b
Y= Ym 3..:1--- Ys 95 Yo = C 25+ d
c d

xg= ac 2"+ (ad+ b-c)2+ bod
Ana a7 n=2%

mult (x,y, k) =

IF k=0 migv REWRN X%y
ELsE
{a,b] «x
Le dl <Y
pie— walt(a, ¢, le-1)
Py é— walb (0., k-1)
Py c—wulb(a,d, k-1)
P, e—walb(o, ¢, k1D

vgrvey pr 2 +(pup) 204 Py

TO)= (1) loa, 8] of =
Twn)= 4. T(2)+8() Tf“*‘f’@l * )= (?(V' )



